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KEY AND MARKING SCALE
NB. PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.

COMPREHENSION (15 POINTS)
(Testees should not be penalised for grammar or spelling mistakes in the comprehension section)

TRUE OR FALSE+ JUSTIFICATION: (3 pts: 1 pt for each correct and justified answer )
1. F: By 2030, senior citizens will have made up/ have risen to 8 milion.
2. T: We’re seeing problems which never existed before/it was rare for elderly people to be rejected.
3. F:1It’s becoming more difficult for young people ......... even if they want to.
WH QUESTIONS: (4 pts: 1 pt for each appropriate answer )
1. They will end up on the streets.
2. .. because of health problems.
3. Their families used to take good care of them .
4. For 32 years..
PICK OUT FROM THE TEXT: (2 pts : 1 pt for each appropriate answer)
1. He no longer receives any news from his children
2. to stay with her eight children .
WORD MEANING: (3 pts: 1 pt for each correct answer)
1. ageing 2. impact 3. collaborate.
WORD REFERENCE: (3 pts: 1 pt for each correct answer)
1. elderly people 2. Hnia 3. young people
LANGUAGE (15 POINTS).

GAP FILLING: (2 pts: 0.5 pt for each correct answer )

1. takeup - find out 2. stand for 3. show up
WORD FORM: (2 pts: 1 pt for each correct answer )

1. criticise 2. assistance
GAP FILLING: (4 pts: 1 pt for each correct answer )

1. must 2. have left 3. togive 4.who
REWRITE THE SENTENCES: (3 pts: 1 pt for each correct answer )
1. will be built 2. If I had prepared ..., | wouldn’t have had .......
3. where she could find ...
GAP FILLING: (2 pts: 1 pt for each correct answer )
1. also 2. because of
FUNCTIONS: (2 pts: 1 pt for each appropriate answer )

Accept any appropriate answer

HT.WRITING (10 POINTS)

Scoring criteria Scores

Relevance of content to the tasks (3 pts)

Paragraph and composition organisation (2 pts)

Appropriateness and variety of vocabulary (2 pts)

Accuracy of grammar (2 pts)

Mechanics ( Spelling, punctuation, capitalization) (1 pt)
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